
=

( -

)  × 0.8

= ×

=

( 9.5 - 4.5

)

= ×

=

5.1 ×  ④ 5.1 × 4.4 - 5.1 × 2.4 =

③ 9.5 × 0.8 - 4.5 × 0.8 =

3.8 ×  ( + )

= ×

② 3.8 × 0.8 + 3.8 × 9.2 =

= ×

=

日にち：　　　月　　　日

名まえ

・次の式をくふうして計算しましょう。（うすい字はなぞりましょう）

① 6.6 × 1.5 + 3.4 × 1.5 = ( 6.6 ＋ 3.4 )  × 1.5

⑧ 定着

８



=

10

2

10.2

( 4.4 - 2.4

)  × 0.8

= 5 × 0.8

= 38

( 9.5 - 4.5

)

= 5.1 ×

= 4

5.1 ×  ④ 5.1 × 4.4 - 5.1 × 2.4 =

③ 9.5 × 0.8 - 4.5 × 0.8 =

3.8 ×  ( 0.8 ＋ 9.2 )

= 3.8 ×

② 3.8 × 0.8 + 3.8 × 9.2 =

= ×

=

日にち：　　　月　　　日

名まえ

・次の式をくふうして計算しましょう。（うすい字はなぞりましょう）

① 6.6 × 1.5 + 3.4 × 1.5 = ( 6.6 ＋ 3.4 )  × 1.5

⑧ 定着 答え

８


